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1 Introduction

During RAN2#98 meeting, RAN2 has made the following agreements on RLC status report:
Agreements 

1.
NACK range field indicating the number of consequitively lost RLC SNs starting from and including NACK_SN.  
2.
FFS the number of bits required

3.
E3 indicates the presence of NACK range 

4.
Several NACK range fields can be included in the RLC Status PDU 

5. 
The rest of the fields can follow LTE baseline

This paper provides more detail of RLC status PDU format.
2 Discussion
2.1 CPT Field
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Figure 1. RLC status report format with 16-bit SN, SOstart and SOend fields in LTE

Figure 1 shows an RLC status report format. The RLC status report is one of RLC control PDUs. Hence, control PDU type (CPT) field needs to be presented in the header part. In LTE, length of CPT field is 3-bit among which only 000 is defined for RLC status PDU. Even though there is no other usage of CPT field, we can keep the same length as LTE for future usage.
Proposal 1. Length of CPT is 3-bit.

2.2 Discussion on NACK SN Range Field
An FFS in the last agreement is the length of NACK SN Range field. This length should be determined according to how many contiguous RLC PDUs are lost within the same MAC PDU. It depends on data rate and TTI. Under 20 Gbps and 1ms TTI, we expect that 20Gbps/1500B/1ms=1666 PDUs can be lost contiguously within 1ms. 11-bit is required to report by one NACK SN and one NACK SN range field. But, this is an extreme case. We see that 10-bit seems sufficient. 

Proposal 2. The length of NACK SN Range is 10-bit.

Since RAN2 agreed E3 field indicating the presence of NACK SN Range field, we need to decide the exact value of NACK SN Range field. In other word, whether we leave some values as reserved or not is an open issue. We can agree that NACK SN Range is activated only if there are at least 2 contiguous NACK SNs. Assuming N contiguous NACK SNs, we can consider three options for exact value of NACK SN Range as follows: 
· Option 1: NACK SN Range=N-2.
· Option 2: NACK SN Range=N-1=1, 0 is reserved.

· Option 3: NACK SN Range=N, 0 and 1 are reserved.
In our view, it seems that there is no usage of reserved value in NACK SN Range field. But, we may leave them for future usage.
Proposal 3. RAN2 to study exact value of NACK SN Range field.
3 Conclusion

Based on the above, RAN2 is requested to discuss and capture the following proposals:
Proposal 1. Length of CPT is 3-bit.

Proposal 2. The length of NACK SN Range is 10-bit.

Proposal 3. RAN2 to study exact value of NACK SN Range field.
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